Figure: Adjusted mean change from baseline in percentage of days without rescue medication use
for each inter-visit period; ITT population
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NMumber of Patients in the Inter-Visit Period
A: 1040 1034 1018 1004 978 964
B: 1021 1009 870 954 907 894
C: 514 508 507 497 486 480

Inter-Visit Period
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Source: Table 14.2.11.2
Notes: [1] Bars represent 95% CI
[2] * Statistically significant difference compared to Tiotropium (p-value<0.05)
[3] + Statistically significant difference compared to CHF 1535 pMDI + Tiotropium (p-value<0.053)
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